
DAILY BASIS ASSIGNMENT 

          DAY: SATURDAY                CLASS: V                    DATE:09.05.2020  

         

  SUBJECT: ENGLISH 

I. The following questions are from Grammar – Number 

1. Find out Plural of Major-general among the following options: 

a. Major-general 

b. Majors-generals 

c. Majors-general 

d. Major-generals 

2. Find out Plural of Man-servant among the following options: 

a. Men-servant 

b. Men-servants 

c. Man-servants 

d. Man-servant 

3. Find out Plural of Index among the following options: 

a. Indexes 

b. Index 

c. Indices 

d. Indexs 

4. Find out Plural of Hypothesis among the following options: 

a. Hypotheses 

b. Hypothesis 

c. Hipothesis 

d. Hypothisis 

5. Find out Plural of Maximum among the following options: 

a. Maximums 

b. Max 

c. Maximumes 

d. Maxima 

 

  SUBJECT: EVS 

 

I. Choose the correct answer                                                                                                   

1. Which of these crops is grown from November to April? 

   a. Jowar                   b. Maize                 c Wheat          d. Rice 



2.  Which of these crops is grown from June to October? 

    a. Mustard                  b. Wheat                  c. Gram        d.  Rice 

3. The crop is prone to damage by pests it can be protected by  

     a. Proper fencing     b. Insecticides            c. Scare crows       d. Pesticides 

4. Some seeds have hooks or barbs, it gets transported by sticking to the  

      a. Clothes of human   b. Wind                   c.  Water              d. Explosion 

 5.  Which feature of a seed enables it to be easily carried away by water? 

      a. Very light             b. Sticky                   c.  Fibrous        d. Heavy 

    

  SUBJECT: MATHS 

 

I. Choose the correct option: 

1)The product of the greatest and smallest 3- digit number is 

a)90                             b)99                            c)900                        d)99900 

2)The product of least natural number and least whole number is 

a)1                              b)0                              c)100                        d) Both of them 

3)5980×20×5= 

a)678000                  b)789000                   c)896000                 d)598000 

4)3660÷10= 

a)546                         b)986                         c)366                          d)256 

5)345000÷500= 

a)780                          b)690                       c)460                           d) 340 

 

  SUBJECT: COMPUTER 

 

I. Choose the best options from those given below: 

i) CD-RW is used to 

(a)  Refresh and Wrap    (b) Rearrange and Erase   

(c) Reorder and Wrap            (d) Write or Record 

 



ii) ROM stands for 

(b)  Read Operating Memory      (b) Read Only Memory             

(c) Random Office Memory                 (d) Random Operating Memory 

  

iii) A storage device which has a magnetic medium in a rigid-material disk  

(a) Floppy  (b) DVD      (c)  CD               (d) Hard disk 

 

iv) The storage device that can hold more data and is faster and durable 

(a) Trash Memory (b) Pen drive      (c) Hard disk          (d) 

Floppy 

 

v) Computer memory is of _______ types   

(a) Two  (b) Three                  (c) Four          (d) Five 

 

 

 ह िंदी असाइनमेंट 

 

I. नीचे दिए बहुदिकल्पीय प्रश्नों का सही उत्तर चूनें । 

 प्रश्न 1) “ बेटा मुझे तुम पर गर्व है ।“ यह र्ाक्य किसने िहा ? 

ि) गुरु जी ने            ख) गोलू ने             ग) पपता ने              घ) माता ने 

प्रश्न 2) ‘जय जर्ान,जय किसान ‘ यह नारा किसने दिया था ? 

ि) नेहरू जी ने        ख) गाांधी जी ने      ग) सुभाष चांद्र बोस ने।      घ) लाल बहािरु शास्त्री ने 

प्रश्न 3) शास्त्री जी िे पपता िा िेहाांत िब हुआ था ? 

ि) जब शास्त्री जी एि र्षव िे थे।                      ग) जब शास्त्री जी डेढ़ र्षव िे थे। 

ख) जब शास्त्री जी पााँच र्षव िे थे।                       घ) जब शास्त्री जी िो र्षव िे थे। 

प्रश्न 4) जब िभी आप से िोई गलती हो जाती है , तो आप क्या िरेंगे ? 

         ि) आप डरिर झूठ बोलेंगे।                       ख) आप ममर िी मिि लेंगे। 

         ग) आप अपनी गलती मान लेंगे।                   घ) आप िोबारा गलती िरेंगे। 

प्रश्न 5) ‘सांग्राम’ शब्ि िा सही पर्लोम क्या है ? 

ि) असांग्राम          ख) अशाांतत              ग) शाांतत              घ) शाांत 
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